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2. BB 1424 lm@*fﬁ% rd=2: n=0 f=? ul=? u2=>
3. EIHEBIAA rd=1: n=3 f=? ul=2 u2=?
4. BEi(A=1, ..., )BEFAN _ —
5. FASIAH O ES goto label t+1; | 1453 n=7f=7ul=ru2=
6. RS At+1ANETRFEE]
7. NEEAMIGREFAIEA
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- BREBSH(ES. 5/AR)
- EEZE
typedef struct elem { // 1R&ZBETHEE
int rd; // IREIEARIRS
Datatypeofpl pl; // BREISEN

Datatypeofpm pm;
Datatypeofql ql; // BEPEE

Datatypeofqn qn;
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2. BE+2/ MBS
- label 0 : E—1AIHAITIES]
- label t+1 : IRTERREIRESRZ:
«label i (1<=i<=t) : FiPtHEBITR[ERE
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3. 18n0dEEIIA O

// NF%
S.push(t+1, pl, ..., pm, ql, ...qn);
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4. FiEL (i=1

- BRIZREMAFEEI (i=1, ..., VNBFEBIEGS :
recf(al, a2, ...,am) ;
- WAL MESER
S.push(i, al, ..., am) ; // SE&uH%

goto label O ;

label

/* 1R

1: xX=

£ 4K,

J’IEE%S top () — HE=
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—I:U

P s

S.top() ; S. pop()
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« goto label t+1;
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6. S At+10iES

switch ((x=S.top ()).rd) {
case 0 : goto label O;
break:

case 1 : goto label 1;
break;

case t+1 : item = S.top(); S.pop(); // 1X[=
break:
default : break:

j
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51an , recf (... recf())
B0

exmp, = recf ();
exmp, = recf (exmp,);

exmp, = recf (exmp, ;)
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typedef struct elem {
int rd, pn, pf, ql, q2;

} ELEM; rd=2: n=0 f=? ul=? u2=?
class nonrec { rdel: ne3 fo? ule? u2=?
private:
stack <ELEM> S; rd=3: n=7 {=? ul=? u2=?
public:

nonrec(void) { }  // constuctor
void replacel(int n, int& f);
};
B
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fffffffffffffffffffff HBSEAT | (2) HUADEIA5EIR Emp(7 8]
u2=f=2
A
I \
EJHAD f=ul*u2=2 |Exmp(3,&f) Exmp(1,&f)| f=2
void nonrec::replacel (int n, int& f) { wui=f=2 u2=f=1
ELEM x, tmp
x.rd = 3; X.pnh = n; =2 |Exmp(1,&f) Exmp(0,&f) | f=1

S.push(x); // EEXKIEE" KOE"
labelO: if ((x = S.top()).pn < 2) {
S.pop( ) ;
x.pf = x.pn + 1;
S. push (x) :
goto label3;
J
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ffffffffffffffffffff ST | (2) HLRAYEIF5ES
& ABITES ) - {
x.rd = 1; [/ FH—AbIE A
x.pn = (int) (x. pn/2) ; (]
S. push (X) : /—@% =
goto labelO; ]
labell: tmp = S.top(): S.pop(): ,///:;ﬁ
= S.top(); S.popQ); T

x.ql = tmp.pf; // Eul=pf | |
S. push (x) ; e
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Exmp(7,&0] -1 V2=

ffffffffffffffffffff ST | (2) HURAEIFHER \
u’2=f=2
- AL S
%_ I @_Uﬂ‘nﬁ f=ul*u2=2 |Exmp(3,&f) Exmp(1,&f) =2
x.pn = (int) (x. pn/4) : u1=f7 Yfﬂ
x.rd = 2;
S. pUSh (X) : f=2  |Exmp(1,&f) Exmp(0,&f) | f=1

goto labelO;

label2: tmp = S.top(): S.pop():
x = S.top(); S.pop();
X. q2 = tmp. pf;
x.pf = x.ql * x.q2;
S. push (x) ;
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label3: x = S.top(); w_ N
switch(x.rd) { f=ul*u2=2 |Exmp(3,&f) Exmp(1,&f)| f=2
case 1 : goto labell; U1=f'=2/ t&l
break;
f=2  |Exmp(1,&f) Exmp(0,&f) | I=1
case 2 : goto label?2;
break;
case 3 : tmp = S.top(); S.pop();
f = tmp.pf; //ITTEER
break;
default : cerr << "error label number in stack";
break;

}
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m1tEEgHEi§u3%;£ f=ul*u2=2 |Exmp(3,&f) Exmp(1,&f)| =2

void nonrec::replace2(int n, int& f) { ul=f=2 u2=f=1
ELEM x, tmp;

// )\ :u:% =2  |Exmp(1,&f) Exmp(0,&f) | f=1
x.rd = 3; x.pn=n; S.push(x);
do {
// BEIANK
while ((x=S.top()).pn >= 2){
x.rd = 1;
X.pn = (int)(x.pn/Z);
S.push(x);
}
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e 5PA51 L IERYAEE AR Exmp(7.&F)

f=ul*u2=2 |Exmp(3,&f) Exmp(1l,&f)| f=2
X = S.top(); S.pop(); // R , n <=2 ul=f=2 u2=f=1
x.pf = x.pn + 1; / \
S.push(x); =2 |Exmp(1,&f) Exmp(0,&f) | f=1

// ANRZBNEZNNEIFiIRME] , N EFH
while ((x = S.top()).rd==2) {

tmp = S.top(); S.pop();

X = S.top(); S.pop();

x.pf = x.q * tmp.pf;

S.push(x);
}
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ffffffffffffffffffff A4S ELBEISEDE[EEES Exmp(7,&f) |71
V=f=2
f=ul*u2=2 |Exmp(3,&f) Exmp(1,&f)| =2
if ((x = S.topValue()).rd == 1) { ul=f=2 u2=f=1
tmp = S.top(); S.pop();
x = 5.top(); S.popl); =2 [Exmp(1,&f) Exmp(0,&f) | f=1

x.q = tmp.pf; S.push(x);
tmp.rd = 2; // HAEIZNEIS
tmp.pn = (int)(X.pn/4);
S.push(tmp);
}
} while ((x = S.top()).rd !'= 3);

X = S.top(); S.pop();
f = x.pf;
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« BT () :
int £(int x) {
if (x==0) return O;
return f(x—1)+1;

)

- EEOAIRET, YxtEi 11, 772 BSSHII R
» JREEIAKSE (x) |, HRFTRICERIRENIREIE

- FEEVAIRE T, 2axi#Bid32, 375, 56 7Rt HIEEIR
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